Software Engineering, CPSC-4360-01 and CPSC-5360-01
Tutorial 9
Exercise 1. Analyze the following code, and find output at invocations of tryMe() in main() as well the justification of the output. Also, find out if each of the commented statement will result in a compile time error or a run time error, and why?

class Animal{

public void tryMe(){

System.out.println("####");

}

}

class Cat extends Animal {

public void tryMe(){

System.out.println("Meow !");

}

}

class Dog extends Animal{

public void tryMe(){

System.out.println("Bark !");

}

}

public class AnimalTest {

public static void main(String args[]) {

Animal a = new Animal();

Animal c = new Cat();

Dog d = new Dog();

a.tryMe();

c.tryMe();

d.tryMe();

Animal anotherA = ((Animal)d);

anotherA.tryMe();

Dog anotherD = ((Dog)(Animal)d);

anotherD.tryMe();

// anotherD = ((Dog)a);

// anotherA =((Cat)(Animal)d);

// anotherD = ((Cat)(Animal)d);

// Cat anotherC = ((Cat)(Animal)d);

}

}

Exercise 2. Analyze the following code. What will be printed when this is executed? Justify each of the output.
class Parent {


void overload (Parent p) {



System.out.println("Parent");


}

} // end Parent

public class Child extends Parent {


void overload (Child c) {


  
System.out.println("Child overload");


}


void overload (Parent p) {



System.out.println("Child override");


}


void testOverload (){



Parent p = new Child();



Child c = new Child();



overload(p);



overload(c);



p.overload(p);



c.overload(c);



p.overload(c);



c.overload(p);


} // end testOverload


public static void main(String[] args) {



Child c = new Child();



c.testOverload();


} // end main

} // end Child
Exercise 3. The structure chart below illustrates the hierarchy of modules in a software sub-system:


Describe the sequence of module tests for integrating the modules using the depth first top-down approach.
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